DIMENSIONAL DRAWING: ET4602L

IR MODEL
1082.8
LIGHT SENSOR —18.8, X4
] 1 s
] ] T
1018.1 . 394
ACTIVE AREA
— 1019.8 —
BEZEL OPENING
574.4
BEZEL OPENING
637.4 .l B
572.7
ACTIVE AREA
* ‘ 7 7

I/O CONNECTIONS
(UNDER SECURITY COVER)

DISPLAYPORT

HDMF—~—

VGA

=~

OSD REMOT

TOUCH USB

AUDIO IN
AUDIO OUT
GPIO

AC POWER IN

DIMENSIONS ARE IN MILLIMETERS

— i

B ==t

SIDE MOUNT, X4 M4 THREADS,
MAX THREAD DEPTH = 6MM

VESA MOUNT 400X400

M6 THREADS, X4

THREADS START 8.5MM BELOW
MOUNTING SURFACE

MAX SCREW DEPTH = 16MM FROM
MOUNTING SURFACE

ENSURE MINIMUM THREAD
ENGAGEMENT = 5MM

6]

ﬂ 400

6]

400
< S ——
SECURITY COVER — @ —
Bl )
PoE O]
]
b0 (/ 5 .
1IN
\_ © ©
%@ \
Ol-JO o
7o | @
o A—
TOUCH OSD— — e ° °

POWER BUTTON-

SPEAKER, X4

COVER FOR OPTIONAL ECM CONNECTIONS

PERIPHERAL MOUNT, X4
(TOP, BOTTOM, LEFT, RIGHT)

SHEET 1

MS601605

OF 9 DATE: 06/28/2017

REV:D




IR MODEL WITH OPTIONAL ECM KIT

DIMENSIONAL DRAWING: ET4602L

ECM CONNECTIONS ON SAME SIDE
AS IDS 1/0 CONNECTIONS

DIMENSIONS ARE IN MILLIMETERS

—=1006 ——

(a\
O
7

4.1

=)

[0)

287.9 D C @

@

6]

e °

L)
O
7

6]

OPTIONAL EXTENSION SPACERS AND SCREWS (X4)
INCLUDED WITH ECM KIT

SHEET 2 OF 9

MS601605

DATE: 06/28/2017

REV:D




PROJECTED CAPACITIVE MODEL

1082.8

LIGHT SENSOR

1020.1 ACTIVE AREA

637.4

DIMENSIONAL DRAWING: ET4602L

SIDE MOUNT, X4 M4 THREADS,

VESA MOUNT 400X400

M6 THREADS, X4

THREADS START 8.5MM BELOW
MOUNTING SURFACE

MAX SCREW DEPTH = 25MM FROM
MOUNTING SURFACE

MAX THREAD DEPTH = 6MM

—18.8, X4

SECURITY COVER—

4ﬁ=\u t t

574.7 ACTIVE AREA

I/O CONNECTIONS
(UNDER SECURITY COVER)

DISPLAYPORT

HDM

OSD REMOT

TOUCH USB

AUDIO IN

AC POWER IN

DIMENSIONS ARE IN MILLIMETERS

31.4

B ==t

TOUCH OSD—
POWER BUTTON-

SPEAKER, X4

ENSURE MINIMUM THREAD

400 ENGAGEMENT = 5MM
\%é —— — o
i ¥ |
0 ! 0 r/ o ) L\
@ - ®
® | & ®
1.0 \_ © © —
0?0 L/ ]
OL-JO o
| P
@/e ==

COVER FOR OPTIONAL ECM CONNECTIONS

PERIPHERAL MOUNT, X4
(TOP, BOTTOM, LEFT, RIGHT)

MS601605

SHEET 3 OF 9 DATE: 06/28/2017

REV:D




PROJECTED CAPACITIVE MODEL WITH OPTIONAL ECM KIT

DIMENSIONAL DRAWING

: ET4602L

ECM CONNECTIONS ON SAME SIDE
AS IDS I/O CONNECTIONS

= ) ==
%5%’%/

@EE

®

ooooOooOoOoOoooooooomio
T («} I=]=}
=35

ﬁ,/

LG ETIEEE

DIMENSIONS ARE IN MILLIMETERS

— —— 90.3

39

©
N
1° ©
@ @ (©) (©) —
"] [/
(o)
o
o ] O
N — e - —_—— - o ©
OPTIONAL EXTENSION SPACERS AND SCREWS (X4)
INCLUDED WITH ECM KIT
] U |
' 5 — | ; J ‘ \ : —0 T |

SHEET 4 OF 9

MS601605

DATE: 06/28/2017

REV:D




OPTIONAL STAND KIT P/N E275623

LANDSCAPE ORIENTATION

(PORTRAIT ORIENTATION NOT SUPPORTED)

DIMENSIONAL DRAWING: ET4602L

I

‘\1

DIMENSIONS ARE IN MILLIMETERS

348

452

— 36, X2

B

52

690.7

6]

e}
@

— ———T—% —
O
_ Bl _
0
D0 (/ 5 .
|| (o)
D b4
: Lo
@@ _ © o © o
0 | 0 0 J/
O
0 |
o [ = = e o o - =
67315.54%
400

HOLES FOR SECURING STAND
TO TABLE (04 THRU, X4

XF'M-
2 &
1 1 1 1
=1 \ I — [F
| a — a | 180
[ ]
1 1 1 1 J]
o J o5

MS601605

SHEET 5 OF 9 DATE: 06/28/2017

REV:D




OPTIONAL LOW PROFILE WALLMOUNT KIT P/N E275050

DIMENSIONAL DRAWING: ET4602L

SEE NEXT PAGE FOR DIMENSIONS WITH ECM KIT

LANDSCAPE ORIENTATION

g

LOGO ON BOTTOM

TOTAL THICKNESS INCLUDING BRACKET

IR=77.1
PCAP =66

336.5

LOGO ON LEFT—

PORTRAIT ORIENTATION

DIMENSIONS ARE IN MILLIMETERS

SHEET 6 OF 9

MS601605

DATE: 06/28/2017

REV:D




OPTIONAL LOW PROFILE WALLMOUNT KIT P/N E275050
WITH OPTIONAL ECM KIT.

SEE PREVIOUS PAGE FOR DIMENSIONS WITHOUT ECM KIT

DIMENSIONAL DRAWING: ET4602L

LANDSCAPE ORIENTATION

TOTAL THICKNESS INCLUDING BRACKET

— —— IR =100.1

PCAP =89
— 98.7

X {65
]

33
- x {
[ F
| b
o 11 |
— 104.2
LOGO ON BOTTOM
103.7 —= — —= ——— 103.7
fﬁ D ] Z ( ® ® | ® )
PORTRAIT ORIENTATION D @
318.9
65 o
P
b
LOGO ON LEFT— Li 7
W ] 336.5
IR
s E 7
1)
33 °
47 326.9
i =
| [0
|| X © . 0G® ©

DIMENSIONS ARE IN MILLIMETERS

104.2 ——= — — = —— 104.2

SHEET 7 OF 9

MS601605

DATE: 06/28/2017

REV:D




DIMENSIONAL DRAWING: ET4602L

MOUNTING HOLE LOCATIONS FOR
OPTIONAL LOW PROFILE WALLMOUNT KIT P/N E275050

LANDSCAPE ORIENTATION

1082.8
— 3382 406.4 "A" (16") 3382 =
—— 355"B" @ —————=
107.4 R18.8 , X4
- 47 ]
48 /IDS OUTLINE
Xb /
+ + + +
+ o+ + + ZF
MOUNTING HOLE LOCATIONS
CHOOSE ONE:
A = 6MM (1/4") FLAT HEAD SCREWS, X4
B = 6MM (1/4") HEX HEAD SCREWS, X4 637 4
357.9 )
6MM (1/4") HEAD HEX SCREWS, X2
. N
- 4& Y. Z
— ——— 406.4 (16") = 124.2

DIMENSIONS ARE IN MILLIMETERS

PORTRAIT ORIENTATION

637.4

—=

RIBS, X4 |
P

IDS OUTLINE \

— 115.5 115.5 —=

——— 406.4 "A" (16") —

— - 355"B" =

MOUNTING HOLE LOCATIONS

CHOOSE ONE:
A =6MM (1/4") FLAT HEAD SCREWS, X4
B = 6MM (1/4") HEX HEAD SCREWS, X4

6MM (1/4")
HEAD HEX SCREWS, XZN
+

— 4064 (16") =

330.1

357.9

346.9

1082.8

SHEET 8 OF 9

MS601605

DATE: 06/28/2017

REV:D




OPTIONAL SIDE MOUNT BRACKET KIT P/N E329508

4 ADJUSTABLE BRACKETS INCLUDED IN KIT

CUSTOMER ASSEMBLED
— 20
490
— 23.9
= —— 75"B"
= — 50 "A"
Jv 20 |
— > ol (oo oo I
| 3 e
— 10
A =4MM THRU, X8
B = M4 THREADS, X8
] 685.3
a ao )
fo o Y ‘Loo ] v
Z
— 23.9

TABLE-TOP ORIENTATION

\.

1

J

g
A, X2

WARNING FOR TABLE-TOP MOUNTING ORIENTATION:

LEFT AND RIGHT EDGES OF 4602L MUST BE SUPPORTED

IN THE 4 LOCATIONS MARKED "A" TO PREVENT

BENDING OVER TIME DUE TO GRAVITY

DIMENSIONS ARE IN MILLIMETERS

L
A, X2

DIMENSIONAL DRAWING: ET4602L

5

=0

ADJUSTMENT RANGE:
IR=24 TO27.4
PCAP=-79 TO171

654.3

[0)

® —_T — 7 o

o)

&=0
=)

©oLlo

S ———

@

OL-I0

OLIO

e °

—A
A
A
/

T

T

SHEET 9 OF 9

MS601605

DATE: 06/28/2017

REV:D




	Sheet 1
	Views
	new_view_18
	right_19
	right_20
	bottom_21
	new_view_36


	Sheet 2
	Views
	new_view_50
	new_view_51
	new_view_52
	new_view_53
	new_view_54


	Sheet 3
	Views
	new_view_38
	new_view_39
	new_view_40
	new_view_41
	new_view_42


	Sheet 4
	Views
	new_view_44
	new_view_45
	new_view_46
	new_view_47
	new_view_48


	Sheet 5
	Views
	new_view_56
	new_view_57
	new_view_58
	new_view_59


	Sheet 6
	Views
	new_view_62
	new_view_63
	new_view_64
	new_view_71
	right_72
	right_73


	Sheet 7
	Views
	new_view_67
	new_view_68
	new_view_69
	new_view_74
	right_75
	right_76


	Sheet 8
	Views
	new_view_84
	new_view_85


	Sheet 9
	Views
	new_view_87
	new_view_88
	new_view_89
	new_view_90
	bottom_91



